Sr Questions Answers Choice
A3
1 Square root of 81 is g g
D. 12
A. Zakat
2 e is paid on agrieultural yield (B:' gir:rrmmision
D. None
A. Profit
3 Rate of Zaka x total amount= g ggmglsnl?;akat
D. Loss
A. Profit
4 If the sale price is greater then cost price then we get (B: llzlgtshslng
D. None
A 1:31:4
5 The lowest form of 21000:42000 B.1:2
C.1:5
A.CNCQCz
6 Which Sequence is Correct? 3 ﬁ g\',\l\/%vzvgé
D.QCZCNCW
A 121
. B. 144
7 L.C.M.of 72,48,is C. 12
D. 169
8 Question Image |
A3
9 Natural number along with .............. called whole numebr CB: (2)
D.1
A 14
S . . B.1.45
10 Significiant Figures of 1.388889 is C. 138
D. 1.3898



